00000 OOobyooo
0000000000 0000000000

100

GO0OO000,¢90 000 GOO 2z,y000000 ¢g(z,y) 00000000 [0DOJ0O0OO0. 00,
gz,y) O z-yOODOOOO.

g: GxG — G,
(z,y) = g(z,y).

000000 (G,g) 00000(G,g) 0000000000000 0000O0

(1) [oooo] Vez,y,z2 €G, (x-y)-z==x-(y-2).

(2)[bOo0O000] JdeeG st VYo, ez =x-e=x.

e0000 (G,g) 0000000,100000000.
(3)[000000000] VzeG, JleGst. ztz=x-21=e
r~l0000020000000.

goooo (G,g)DDDDDDDDDDD,DD (G,g)DDDDDDDDDDDDDD.
(0)[ooog] Ve,yeG, y-x=ux-y.

00000000, g(z,y) 0 x4+, 00000 e0 0,2000 z~'0 —2 0000 000000
ooooo.

2 00
ROODOODO,000 RODO 2,y 0000000D0O0ODOOOO [DD]DDD gloono h

000D0000000000. 000000 (R,g,h) 00000(R,g,h) 00000000000
ggobooboooo

(1) [poooo] (Rg) 0000000,

00000 g(z,y) 00000 z+y 000, (R,g) 00000 0,z 0000 —z O

00. h(z,y) 0000 z-y 000,

(2) [DooO0]

(R,h) 0000 DOOO OODOO. Veyy,z €R, (v-y)-z=x-(y-2).

(3) [D000000] Va,y €R,

r-(y1+y2) =y + 7Y (r14+22) -y = 21-y+ 22+ 9.

00000 (R,g,h) 00000000000,00 (R,g,h) 0000000,
(0)[ooooog] Ve,y €R, y-z=uz-y.

0000(R,g,h) 00000000000,
(0)[oooog] JeeR st Ve,e-x =x-e =z,



e000000000D 1000.000 10000 (R,g,R)0000,0 x000000000
O00mooo 3z teG@st. 2t o =227 =10000200000000,2" 2000
0 z@DO0O000OOO.

0o

0 (F,¢g,h)0,000 1000,0000000000000000000(F,g,h)0000000
00.00000 (F,g,h) 00000000000 000000,

(0D)[0b0oOoD0O0] Ve,y €R, y-x=x-y.
0000000000000 00000000000,00000000000000, 00000000000
0000000000 RO..000000 ROODODODODOMOOOO4+0 -0000000000000
ooooo.
ooooooon

RODODOO 1000000, MO0000 ROOr0 MOO mOO (r,m)eRxMOO M
00 ¢(r,m) 00000000 [DD0D0O0O0OO0OO0O0ODOOOOOO

{: RxM — M,
(z,y) — lzy)

o0o0o0oMO ROODDOODDODOOOOCODOOOOODOOO. RFOOD MDOOODO,RO MOO
00 000.000 4(r,m)0000000 romOO0DO.

()[1o000000] YmeM, lom=m.

(2)[00DO0] Vr,re€ R, VYmeM, rio(rgom) = (ry-rg)om.

Vri,r9 € R, VYm € M, (ri4+mry)om =riom+rgom,
Vr € R, Vmi,ms € M, ro(my+mg) = romy+1oma.

F-OO VOOOO FOOOOmMVOODFOOOOODOOOODOOODOO.

(3)[oDOoDO]

gbogoog

VOO FODOOODOOO,000 VOODOOOOO,00000000000000000000
ooooooom@vo F-0000O0O0O0O0OO0O.

(1) [DDDDDDDD]
VfEF, V’Ul,’UQGV, (fo’l)l)"l)g = Ul-(fO’UQ) = fo(’Ul-Ug).



